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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Read the passage given below and answer the questions that follow, based on
the passage you understand :

India’s underdevelopment was not traditional or inherited from the precolonial
past. India of the eighteenth century was undeveloped and not underdeveloped. On a
world scale, it was not less but perhaps more developed than many other national
economies, as most of the world development has occurred after the eighteenth century
and basically after 1850. In fact, there was not much of a gap between the economic
condition of Mughal India and that of pre-industrial Europe and Japan. The basic
feature of colonialism in India in its long history since the 1750s was the appropriation
by Britain of the social surplus produced in India. Also while the forms of surplus
appropriation underwent changes through different stages of colonialism direct
appropriation of surplus, employment of our boys, unequal exchange, profits of industrial
capitalism and interest on public debt - the fact of surplus appropriation remained
constant and basic. There were of course, many changes and some of them were positive
for example, the development of the railways - when seen in isolation. But these changes
came within and as part of the colonial framework and became, therefore, part of the
process of underdevelopment. Colonialism is best seen as a totality or a unified structure.
The newly developed institutions and evolving structures formed an interconnected
and mutually reinforcing network, which survived and brought into being the colonial
structure.

1.  Why was India’s underdevelopment not traditional ?
(A) India in the 18th century was undeveloped
B) India did not inherit underdevelopment from the past

C) India in the 18th century was not underdeveloped
D) India was not a poor nation

(
(
(
2. Why eighteenth century India could not be called underdeveloped ?
(A) World development occured after 18th century
(B) India did not lag behind other nations
(C) Most other nations developed after 1850
(D) Indian economy was comparable with contemporary Europe and Japan

3. Which of the following is the basic feature of colonialism ?
(A) unequal exchange

(B) appropriation of social surplus

(C) interest on public debt

(D)

D) expropriation of the industrial profit

D —-0608 2
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1.  YRA 1 37c9 foeRriehtor TFRATd =l & o1 ?

(A) 3TNl Udlsal ol YRA SAfeIhfEd o
(B) RA Wl TUTIRTEIHI STRITEHR H & fHer o
(C) 3TNl T o1 ¥RA 37cd foefaa =&l o
(D) 9Rd T T o TR &A1

2, 3TONgdl VAeal o WRA Wi 319 forenfad =il T2 el S Fehd ?
(A) Tava = foee s1eNEe wdsal o g g3l

(B) WRATY 311 S ! il H Ui T8l o

(C) 1850 % oI 3TfereheR <¥l ol forehra gt

(D) IR 37ef SHeE FHEEH AT T S § o off

3. frfafed § & o @ SufavEe &t emur qq favma &2

(A) A fafma (B) WIS SAfHRI it gd
(C) TelSITR YT O & (D) Sir=NfiTen @Y ol &
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4.  Why the railways could not alter the course of development in India ?

(A) Railways were only superficial

(B) Railways were positive changes

(C) Railways were often neglected

(D) Railways formed only a part of the colonial framework
5.  Colonialism should be seen by :

(A) its networks (B) its institutions

(C) its totality (D) its changes

6.  Which of the following represents Palaeolithic ?
(A) Microliths (B) Madras industry
(C) Neoliths (D) Megaliths

7. Which among the following is associated with Mesolithic ?
(A) Sohan (B) Burzahom
(C) Bhimbitaka (D) Shortughai

8.  Which of the following stands for New Stone age ?
(A) Hunting (B) Pastoralism
(C) Scavenging (D) Food production

9.  Which among the following denotes Harappa Civilization ?
(A) Malwa Culture (B) Gandhar Grave Culture
(C) Megalithic Culture (D) Sothi Culture

10. Given below are two statements, one labelled Assertion (A) and the other labelled
Reason (R) :

Assertion (A) : Kushan period in ancient Indian history is the most prosperous period.
Reason (R) : We witness all round development during this period.

Read the above statements and select the correct answer from the codes below :

Codes :

(A) (A) is correct, but (R) false (B) (A) is false, but (R) true

(C) Both (A) and (R) are incorrect (D) Both (A) and (R) are correct

D —-0608 4
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11.

12.

13.

14.

15.

Given below are two statements, one labelled Assertion (A) and the other labelled

Reason (R) :

Assertion (A) : Beginning of landgrants in Gupta period is associated with the
inception of feudalism.

Reason (R) : This was imperative for economic development.

Read the above statements and select the correct answer from the codes below :

Codes :

(A)  (A) is correct, but (R) is incorrect (B) (A) is false, but (R) true

(C) Both (A) and (R) are incorrect (D) Both (A) and (R) are true

Given below are two statements, one labelled Assertion (A) and the other labelled
Reason (R) :

Assertion (A) : Arabs invaded India in the first half of the 8th century A.D.

Reason (R) : They were inspired by the imperialistic considerations.

Read the above statements and select the correct answer from the codes below :

Codes :

(A) Both (A) and (R) are true (B) Both (A) and (R) are incorrect

(C) (A) is true, but (R) is False (D) (A) is untrue, but (R) is true

Arrange the following into sequential order and select the correct answer from the
codes given below :

(i)  Chalcolithic age (i) Iron age

(iii) Bronze age (iv) Stone age

Codes :

(A) (i), (i), 1), (iv) (B) (i), (), (iv), (iii)
(©) (), (i), (@), (i) (D) (@), (iv), (i), (i)

Arrange the following into sequential order and select the correct answer from the
codes given below :

(i) Rajatarangini (i) Harsh Charit

(iii) Prithvi Raj Raso (iv) Sangam literature
Codes :

(A) (i), (i), (i), () (B) (i), (iv), (i), (i)
(©) (), (i), (i), (iv) (D) (iv), (id), (), (i)

Arrange the following in chronological sequence and select the correct answer from
the codes given below :

(i) Chakravartin (i) Maharaja

(iii) Maharajadhiraj (iv) Rajan

Codes :

(A) (i), (), @), (iv) (B)  (iv), (i), (i), (i)
(©) @), () (i), (iv) (D) (), (i), (i), (i)

D —-0608 6



11. =9 S 9 gy 7 €, T F R (A) R T FI RIOT (R) FH T E :
HIT (A) : T H 9 ST 1 TRE FHAE ht IEI H I T |
ST (R) : I 3Tk o o fau stawaes o |
ST FHl F1 96T SR 7= 15T Tq Fel 4 G Tel 39 777 BT
e

(A) (A) T& ¥, fhg (R) &t =i B (B) (A) & T ¥, fhq (R) & B

(C) THI (A) iR (R) Tl =& § (D) THi (A) 3R (R) W& T

12. 9 S 9 fou e €, T o ®mUe (A) 3R TH 1 SRIT (R) el TR
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13. frafafeaa & Hager fafee ok =1 e § § @& s g :
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e

(A)  (iii), (iD), (i), (iv) (B)  (ii), (), (iv), (iii)

Q) (iv), (iii), (i), (i) (D) (i), (iv), (i), (iii)
14. Trafafaa #1 Hager fafae ok f= Fe § 9 @@ s gfe
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(iii) g TH (iv) ET Hife

e

(A)  (iv), (iid), (i), (i) (B)  (iii), (iv), (1), (i)

(© (@), (i), (i), (iv) (D) (iv), (i), (i), (iii)
15. frafafaa & Fager fafae sk f fe § @& W &1 991 HIfT
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e
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(© (i), (@), (i), (iv) (D) (iv), (i), (iii), (i)
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16. Which of the order below is correct ? Select the correct answer from the codes given

below :

(i) Ganga kingdom (i) Arab invasion

(iii) Mahender Pallava (iv) Rise of Hoysala power
Codes :

(A) (i), (), @), (iv)

(B)  (iv), (i), (i), (i)

(©) @), (), (i), (i)

(D) (), (i), (iii), (iv)

17. Match List-I with List-II and select the correct answer from the codes given below :
List-I List-1I

(a) Sabha and Samiti (i) Rudradaman
(b) Northern Black Polished Ware  (ii) Vedic period
(c) Girnar inscription (iii) Ashoka
(d) Devanam Piyon (iv) Gangetic plain
Codes :

@ () (© (@
(A) @) (v) (D) @)
(B) G) (v) (@) (D)
(© Gv) @) @ ()
(D) @) @@ (v) (D)

18. Match List-I with List-II and select the correct answer from the codes below :
List-1 List-11

(a) Bodhisattva (i)  Jejakbhukti
(b) Dravid Style of architecture (i) Huna
()  Mihirkula (iii) South India
(d) Chandella (iv) Buddhism
Codes

@ () (© (d
(A) (v) @) @ ()
B) @ @) @) (@v)
(€ (@v) @) @@ @
D) @ Gv) (@) (i)
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19. Match List-I with List-II and select the correct answer from the codes given below :

List-I List-1I
(a) Etched Carnelian bead (i) Bengal
(b) Copper (i) Port
(c) Bary gaza (iii) Harappa
(d) Tamralipti (iv) Rajasthan
Codes :

@ () (© (@
(A) Gv) (@) (D) ()
(B) Gv) @ (@) ()
(© Gv) (@) @) @)
(D) @) (@v) @) @)

20. When did Sher Shah Suri annex Malwa ?

(A)

1540 (B) 1541 (C) 1542 (D) 1543

21. Who was awarded the title of Mirza Raja ?

(A)

Bhar Mal (B) Jai Singh (C) Jaswant Singh (D) Raj Singh

22. In Maratha administration, Majumdar was ?

(A)
(©

Accountant (B) Secretary
Government Official (D) Cashier

23. Battle of Haldighati was fought between :

(A)
(©

Mughals and Amber (B) Mughals and Kota
Mughals and Mewar (D) Mughals and Marwar

24. Arrange the following in correct sequence :

(A)

Alauddin Masud Shah, Razia Sultan, Moizuddin Bahramshah, Ruknuddin
Firuzshah

Ruknuddin Firuzshah, Razia Sultan, Moizuddin Bahramshah, Alauddin Masud
Shah

Razia Sutlan, Alauddin Masud Shah, Ruknuddin Firuzshah, Moizuddin
Bahramshah

Moizuddin Bahramshah, Alauddin Masud Shah, Ruknuddin Firuzshah, Razia
Sultan

25. Arrange the following in correct sequence :

(A)
(B)
(©
(D)

D —-0608

Nasiruddin Qubacha, Zafar Khan, Ghazi Malik, Islam Shah.
Nasiruddin Qubacha, Islam Shah, Ghazi Malik, Zafar Khan.
Nasiruddin Qubacha, Ghazi Malik, Islam Shah, Zafar Khan
Ghazi Malik, Nasiruddin Qubacha, Islam Shah, Zafar Khan.
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19. G-I 1 Gei-11 ¥ Fafad wifee oiR f19 %e 9 O S H1 =79 HifT
-1 TqE-11
(a) TETE &M foad AFa () ama
(b) ™ (i) =TT
(c) S (iii) &S
(d) dmfafa (iv) TSI
e
(@ () (o (d)
(A) (iv) (@) (D) (1)
®) Gv) (@) @) (i)
Q) (@v) (D) () ()
(D) (@) (@v) () (@)
20. IREME G A A hl wa T foman ?
(A) 1540 (B) 1541 (C) 1542 (D)
21. Tosit wen @ faare foeaent fean o or?
(A) HRHA B) I faE (C) StEaw o (D)
22, TS GREA H HS[HRR o :
(A) TETfysR (B) wf=d
(C) HhII ARt (D) @Sl
23. ot R Wt oSk fhe & offe H oret T8 ?
(A) T 3R AR (B) T Rl
(C) Tl SR Herg (D) T 3R HRETS
24, freAfafea w1 Hagar fafae
(A) ITCTREH HYS WE, WA Yoo, HITSE TeUHeg, Torfed fhseng
(B) e fRsTee, WS YoM, AISSEH TeUHeg, AASe 948 e
(C) S G, STATSE HYE e, THEH hUISTINE, HES[E Sedwee
(D) RS SERHEIE, TS HYEE, ToHEH RIS e, Iar gear
25. fr=fafed s Hagar fafee
(A)  THEER FHerd], STH @, TS Afeieh, SEa e
(B) TEHIGEN Helrd, TEAH WG, TMSi HicTeh, STH @M
(C) THIEE e, TSt HicTeh, &A™ M6, STH T
(D) TSIt Hfeteh, THGEH Har=, TEAH 6, STH TH
D —0608 11
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26.

27.

28.

Arrange the following in correct chronological order :

(A)

Devgiri, Ranthambore, Malwa, Gujarat
Malwa, Ranthambore, Gujarat, Devgiri
Gujarat, Ranthambore, Malwa, Devgiri

Ranthambore, Malwa, Gujarat, Devgiri

Match List-I with List-II and select the correct answer form the codes given below :

List-I
(@) Ali Muhammad Khan (i)
(b) Zia-ud-din Barani (ii)
(c) Bhim Sen (iii)
(d) Inayat Khan (iv)
Codes :

@ () (© (@
(A) @) (@v) (@) (D)
(B) @) () (v) (i)
(© Gv) @) @ ()
(D) @) (@v) @) @)

List-11
Nuskha-i-Dilkusha
Mirat-i-Ahmadi
Shahjahan Nama

Fatawa-i-Jahandari

Match List-I with List-II and select the correct answer form the codes given below :

List-I
(a) Shah Mir (i)
(b) Zafar Khan (ii)
(c) Malik Raja (iii)
(d) Jauna Khan (iv)
Codes

@ b © (@
@) O (v @) (i)
® () O G @)
© @) (v @) O
D) (v) @) @) @

12

List-I1
Jajnagar
Khandesh
Kashmir

Gujarat
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29.

30.

31.

32.

Match List-I with List-II and select the correct answer form the codes given below :

List-I List-II
(a) Lambardar (i) State Laws
(b) Barid (i) News Reporter
(c) Wagia Nawis (iii) Village Headman
(d) Jawabit (iv) Intelligence Officer
Codes :

@ (® (9 (d
(A) (v) @) () (i)
(B) (i) (i) (iv) (D)
(© @) (v) (@) ()
(D) @) () (v) (i)

Given below are two statements, one labelled as Assertion (A), and the other labelled

as Reason (R) :

Assertion (A) : During the seventeenth century India, the economic growth
stimulated by the growing importance of a new external connection :
the link between Mughal India and early modern Europe.

Reason (R) : Each trading concern in Mughal India operated under a Royal Charter
which granted it exclusive national rights to carry out the India trade.

In the context of the above two statements, which one of the following is correct ?

Codes :

(A) (A) is correct, but (R) is wrong  (B) Both (A) and (R) are correct

(C) (A)is wrong, but (R) is correct (D) Both (A) and (R) are wrong

Given below are two statements, one labelled as Assertion (A), and the other labelled

as Reason (R) :

Assertion (A) : Khan Jahan enjoyed more extensive powers than had been vouchsafed
to any previous Wazir .

Reason (R) : Firoz Shah Tughlaq capitulated and gave Kahn Jahan, his Wazir,
permission to employ and dismiss whomsoever he wished.

In the context of the above two statements, which one of the following is correct ?

Codes :

(A) (A) is correct, but (R) is wrong  (B) Both (A) and (R) are correct

(C) (A)is wrong, but (R) is correct (D) Both (A) and (R) are wrong

Given below are two statements, one labelled as Assertion (A), and the other labelled

as Reason (R) :

Assertion (A) : The Mughal empire was connected by a surprisingly rapid information
loop for public news.

Reason (R) : The Mughal emperors did not receive news reports from distant
provincial capitals within a few days which could be read out daily
in the public audience hall.

In the context of the above two statements, which one of the following is correct ?

Codes :

(A) (A) is correct, but (R) is wrong  (B) Both (A) and (R) are correct

(©) (A) is wrong, but (R) is correct (D) Both (A) and (R) are wrong

D —-0608 14



29.

30.

31.

32.

Tell-1 1 Gelt-11 § GAferq Hifae 3R 79 Fe § @& SW A1 =997 Hi

-1 qEi-11
(a) TERER () T FA
(b) =g (i) HHER R
(c) afeRan ety (iti) U GUH
(d) Srenfera (iv) Sfesrg SRR
%<

@@ (b) (o) (d)
(A) @(v) (@) @) (i)
(B) (@) (i) @v) @
© (@) @v) G @
(D) @) (@) (v) (i)

= & e fed T ¥, T I R (A) 3R T H HIOT (R) M fem TR

HIUT (A) : TRl TRl o SR, 79 SRl G & dgd g¢ e gN URka enfedes gfs : gie
R4 3R YRftye syfish U9 & o= wel |

hIOT (R) : T 9IRA | Yok AT JFAgH TSRIRT A 95 o 3{diid =erar of f5em
I YR SATIR A o THAS T AR e 9

STIE 3l FAl F g § [Efafaa 3 @ HiTar 9@l g2

(A) (A) & ¥, T (R) Ted B (B) (A) 3R (R) I @&t ¥

(C) (A) T &, W (R) Tl T (D) (A) 3R (R) S Terd 1

T 31 e fed T €, TF A e (A) SR TER I HREOT (R) 1 T G T e
HAT (A) : @ @I fREr ot g6 oS &l YoM T T SAfusil st qor § S ek

AR T TANT il o |

HIT (R) : FRISTONE qTereh 3 2709 ISR @ STei o1 foreent &t =g fge iR fermar 33 =t
srgAfd < |

SWE & FYF & GY 4 [FElcilad § G 1441 G&l 872

(A) (A) W& €, W (R) T € | B) (A) 2R (R) 3 T ¥

(C) (A) T &, W (R) &l T (D) (A) 3R (R) S Terd 1

= < e fed T ¥, T Rl R (A) 3R THX I RROT (R) 1A femm g

HAT (A) : T A HrelsitTeh @erl o ford sTeedse €9 W i SRR =Tt gr
TG ol

THIT (R) : TS SISVE h1 G T TS & o1 gfaded Fo & feoi § 78 fae 9
St foh S gidmTor g | U1 g S Hehd |

SRIE 3 FYA F G T frEferad 4 @ e qet 82

(A) (A) & ¥, T (R) e B (B) (A) 3R (R) I @&t ¥

(C) (A) 7T 8, T (R) &l T (D) (A) 3R (R) SHI Tord 1
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33.

34.

35.

36.

37.

38.

The Act of 1919 provided for :

(A) a separate and simultaneous ICS examination to be held in India.
(B) a separate, but not simultaneous, ICS examination to be held in India.
(C) reservation for Indians in the ICS examination.

(D) holding of the ICS examination in Bombay, Calcutta and Madras.

Which of the following concepts is not associated with the non-cooperation
movement ?

(A) Atmasakti (B) Non-violence
(C) Boycott (D) Charka

The filature is a system related to :
(A) cotton weaving (B) iron-smelting
(C) silk-reeling (D) copper working

Who had evolved the concept of the drain of wealth ?
(A) Bankim Chandra Chatterjee (B) Romesh Dutt
(C) Dadabhai Naoroji (D) Bipan Chandra

Given below are two statements, one labelled Assertion (A) and the other labelled
Reason (R) :

Assertion (A) : The Revolt of 1857 marked an important watershed in the evolution
of British policies towards the Indian states.

Reason (R) : The Revolt of 1857 ended the rule of the East India Company.
In the context of the above two statements, which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) does not explain (A).

(C) (A) is true and (R) is false.

(D) (A) is false and (R) is true.

Given below are two statements, one labelled Assertion (A) and the other labelled
Reason (R).

Assertion (A) : Gandhi for the first time had made untouchability an issue of public
concern.

Reason (R) : He wanted to broaden the social base of the Congress.

In the context of the above two statements, which one of the following is correct ?
(A) Both the statements are false.

B) (A) is true and (R) is false.

Both (A) and (R) are true but (R) does not explain (A).

Both (A) and (R) are true and (R) explains (A).
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33.

34.

35.

36.

37.

38.

1919 1 SAFUFTET I i ¥

(A) 9RA T e iR w1 & W o7 ¥ ud. aE & B
(B) oTE.HI.TH. WiaT 1 YRA H Yk foheg TR &l 2T |
(C) ST uH. TieT H ARl & ford STReTo |

(D) oTE.H1.Td. WieN s, hershdl SR HEM H ST e |

frafafea § 9 A TEURT AN <o ¥ greied T8 § 2

(A)  STTcHYIR (B) i (C) dFehie (D) =@l
foreT=R el Frafed ©

(A) HUS I (B) leT-fasei

(C) WH-=@l | YA (D) sl &1 %M

ST ATE oY i SR TR T&Id i fi ?
(A) difrH == Jesi (B) THWITd
(C) TIRINE ARISH (D) fow =g

= & e fed T ¥, T I R (A) 3R T H HIOT (R) H M e R

HIT (A) : 1857 1 foie wRda Tl & wfa fafewr ol & foma # et afted= o
SIUT (R) : 1857 & fogie = $% sfean et o o &l e & T o)

SRI% & F & Yoo 7 f=fafaa & @ #i=ar 98l &2

(A) (A) 3R (R) SF § T, 3R (A), (R) T Tel THSIHT0N Il |

(B) (A) 3R (R) S ¥ € W (R), (A) I AR Tl ol T |

(Q) (A) TF T 3R (R) 36 T

(D) (A) A T 3R (R) T T

= & e el T €, T B RAT (A) 3R T FI RHWOT (R) FHel IS
HAT (A) : TE T FAYH STERIAAT i FIESITh for=1 I e ST o |
THIUT (R) : 8 HIUH & FHISS TR Sl AT ST =ed 9 |

SR G FeAl F G B, et § @ wiwar a8t 82

(A) T HUA A

(B) (A) ¥ T 3R (R) 3T9A T

(Q) (A) 3R (R) I §F § T (R), (A) Tl AT T T B |

(D) (A) 3R (R) S T & 3R (R), (A) T AT Hl T |
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39.

40.

41.

42,

Given below are two statements, one labelled Assertion (A) and the other labelled

Reason (R) :
Assertion (A) : What occured in India under British rule was at the most aborted

modernization, typical of modern colonial economic structure.

Reason (R) British persistently followed the policy of turning India into an

agriculture country.
In the context of the above two statements, which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is only the partial explanation of (A).

(B) Both (A) and (R) are true and (R) fully explains (A).
(C) (A) is true and (R) is false.
(D) Both (A) and (R) are false.

Arrange the following in chronological order :

(i) Simon Commission (i) Indian Industrial Commission
(iii) Indian Financial Commission (iv) Indian Education Commission
Options :

@A) O @ @) ()

B O G @)

© (v @) i) 0

D) @ i) @ @)

Arrange the following in chronological order :

(i) Praja Mandal (i) Hool

(iii) Ulgulan (iv) Marias

Options :

(A) @@ @) (@v) @

B) @ @) (@v) (i)

© (@v) @ @) (i)

(D) (@@ @) (@v) @

Arrange the following in chronological order :

(i) Age of Consent Act (i) Deccan Agricultural Relief Act
(iii) Police Act (iv) Universities Act

Options :

(A) @) () @) @)

(B) @) @) @ )

© @) @ G @)

(D) @) @) (@v) ()
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39.

40.

41.

42.

= & e el T €, T B RAT (A) 3R T FI RHWOT (R) el IS ¢

He (A) : fofest smem & 9ra | S gen g waifees fwat smyferteto o, s foh snyfer
siafrafiren enfefr = & faey o

SIT (R) : forfest 7 vRA 1 Hfgem <91 | dgem &6t Aifd 1 Fdq e foa |

SR G el & G 7 fefefaa & @ e T8t 8?2

(A) (A) 3R (R) IF T ¥ 31 (R), (A) T FHae Tif¥1eh =& Fdl 2|

(B) (A) 3R (R) EHi T € IR (R), (A) T Ui AR el T |

() (A) §@ T 3R (R) 38 T

(D) (A) 3R (R) I 2/ )

fr=fafea sl warhibs H9 § W@ -
(i) EEET FHHEE (i) WRAE ST ST
(iti) W fofta SR (iv) R foam s

~ o~ —~
=
<

() wHa g stfufrad (i) <feror fa wed srfufam
(i) gfew sifufem (iv) forafemmer sifufrem
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43. Match the List-A with List-B using the code :
List-A List-B

(a) Prosperous British India (i) C.A. Bayly
(b) The History of British India (i) R.C. Dutt
() The Economic History of India (iii) William Digley
(d) Origins of Nationality in South Asia  (iv) James Mill
Codes :
@ () (© (@
(A) @) @) @ G
(B) @) (@v) (@) @)
© @) @ G @)
(D) Gv) (@) @) ()

44. Match the List-A with List-B using the code :
List-A List-B

(a) Permanent Settlement (i) Alexander Reed
(b) Ryotwari Settlement (i) Thomas Law
() Mahalwari Settlement (i) G. Wingate
(d) Bombay Survey System (iv) Holt Mackenzie.
Codes :

@ b © (@
@) @ 0 v (i)
B () O ) @)
© (@) (v @) 0
D) (v) @) @) @

45. Match the List-A with List-B using the code :
List-A List-B

(a) William Jones (i) Evangelicalism
(b) Charles Grant (i) Utilitarianism
() Thomas Macaulay (iii) Orientalism
(d) Thomas Munro (iv) Liberalism
Codes :

@ () (© (d
(A) (v) @) () @
(B) (@) @ (v) ()
(€ @) @@ @ @v)
(D) (@) @v) @@ @
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46.

47.

48.

49.

50.

The Nazi Soviet Pact was signed in :
(A) 1937 (B) 1938 (C) 1939 (D) 1940

Which country disagreed with England and France over colonial issues in 1940s ?
(A) America (B) Russia (C) Germany (D) Italy

Identify the non-commonwealth country from the following :
(A) Pakistan (B) Nepal (C) Sri Lanka (D) Myanmar

Research is a studious search for :
(A) Identification (B) Facts
(C) Hunt for material (D) Hypothesis

Who among the following was worried against entry of value judgements in Social
Science Research ?

(A) T.W. Hutchison (B) M.J. Ulmer
(C) Louis Dumont (D) John Stuart Mill
-00o0-

D —-0608 22



46. STt Hifaad G4 W gEeR F= ad o 69 o .
(A) 1937 (B) 1938 (C) 1939 (D) 1940

47. HHE I TS TE T o Y 1940 F Tk | siafrafires g8 W erend o ?
(A) TR (B) ®H (C) (D) gt

48. TAfAfEd & & HF R-FHHETECT W T :
(A) IfREIH (B) U (C) icisht (D) =MR

49. Y T AFIT A @IS © :

(A) TEEH (B) deA (C) Wi @S (D) qRehea
50. frefafad § @ on gmie foam oy 9 goa fore & gow & fodiy # faf<aa ar?
(A) e, gHEA (B) TH.SL IR
(C) & gHie (D) < o e
-00o0-
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